TAS 3020 S 1 STAINLESS AND ACIDPROOF STEELE

fe—— | 5 ——

e My Transmissible torque per locking assembly

C

= Tightening torque per screw

<
>
I

3 auxiliary threads in the front
The screw heads are marked

/ Not to be used for pullers
REFER ,S"
DIN 912 _ .. )
K 70 Pax = Transmission axial force

[~
DY — e
Q.
T
1

-‘—d@—-—

Pw PN= Contact pressure between locking assembly and shaft
(py,) resp. hub (p,)

SL SSSTFEN :
z Lo — L3 are for unocked assemblies
i - = <]

mm Nm kN mm Nm N/mm? Weight
dxD M, P ax L1 L2 L3 Pieces S M, pw PN kg
20x 47 108 11 17 20 275 8 M 6x18 7 126 54 0,24
22x 47 120 11 17 20 275 8 M 6x18 7 17 55 0,23
24x 50 145 12 17 20 275 9 M 6x18 7 17 56 0,26
25x 50 152 12 17 20 275 9 M 6x18 7 114 57 0,25
28 55 188 13 17 20 275 9 M 6x18 7 111 57 03
30x 55 200 13 17 20 27,5 9 M 6x18 7 105 57 0,29
32x 60 252 16 17 20 275 12 M 6x18 7 115 61 0,34
35 60 280 16 17 20 275 12 M 6x18 7 108 63 0,32
38 65 348 18 17 20 275 15 M 6x18 7 13 66 0,36
40x 65 370 19 17 20 275 15 M 6x18 7 108 67 0,34
42x75 600 28 20 24 33,5 12 M 8x22 18 136 76 0.6
45x 75 645 28 20 24 33,5 12 M 8x22 18 126 76 0,57
48x 80 680 28 20 24 33,5 12 M 8x22 18 118 71 0,62
50 80 700 28 20 24 33,5 12 M 8x22 18 114 71 0.6
56x 85 910 33 20 24 33,5 14 M 8x22 18 120 78 0,63
60 90 990 33 20 24 33,5 14 M 8x22 18 108 72 0,69
65x95 1115 34 20 24 33,5 16 M 8x22 18 114 78 0,73
70110 1840 52 24 28 39,5 14 M10x25 35 126 80 1,26
75x115 1960 52 24 28 39,5 14 M10x25 35 17 76 133
80x120 2080 52 24 28 39,5 14 M10x25 35 18 79 14
85x125 2520 59 24 28 39,5 16 M10x25 35 17 80 149
90x130 2640 59 24 28 39,5 16 M10x25 35 108 75 1,53
95x135 3160 66 24 28 39,5 18 M10x25 35 17 82 1,62

Further sizes on request. When ordering, show: TAS 3020 S 1/d/D




	Seite1

